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INSTRUCTIONS

Please read the following instructions and understand before starting to answer the TCS Talent Test.

DO NOT start answering until you are told to do so.

The TCS Talent Test comprises THREE PARTS



PART I
-
Verbal Reasoning



PART II
-
Quantitative / Logical Reasoning



PART III
-
Critical Reasoning

TOTAL DURATION FOR THE TEST IS TWO HOURS.

Both SPEED and ACCURACY are important.  Try to answer all questions -  but do not spend too much time on any one question if you have difficulty in answering it.

Write your answers against the Correct Question Numbers in the answer booklet separately provided.  For example, if you are not attempting Q12, write the answer to Q13 correctly at the assigned place.  If by mistake, you write the answer to Q13 against Q12, everything from there onwards will go wrong and we can not help you.
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Write the following on your Answer booklet:

1. 
Copy  No. of the Question booklet printed at the top right corner of 

the 
cover page

2. 
Alphabetic symbol printed inside the hexagon on the left margin of 

the 
Question booklet cover page

3. 
Your name

4. 
The Admit Card Id

DO NOT WRITE OR MARK anything on the Question booklet.  Doing so will disqualify you from the test.

Use the blank sheets attached to the Answer booklet for any rough work / calculations etc.  DO NOT detach these working sheets from the answer booklet.  Doing so will disqualify you from the test.

PLEASE WAIT TILL YOU ARE TOLD TO TURN TO THE NEXT PAGE.
PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) CONTROVERT

(A) turn over    (B)contradict       (C)mind      (D)explain   
  (E)swing

(2) CONVENE

(A) propose      (B)restore       (C)question      (D)gather    (E)motivate

(3) CONVERSANT

(A) ignorant      (B)speaking       (C)incorporated      (D)familiar     (E)pedantic

(4) COPIOUS

(A) plentiful      (B)cheating       (C)dishonorable      (D)adventurous   (E)inspired

(5) CORPULENT

(A) regenerate      (B)obese       (C)different      (D)hungry   
  (E)bloody

(6) DECIMATE

(A) kill   (B)disgrace  (C)search      (D)collide     (E)deride

(7) DECLIVITY

(A)trap      (B)quadrangle       (C)quarter      (D)activity     (E)downward slope
(8) DECOLLETE

(A) flavoured      (B)demure       (C)flowery      (D)low-necked    (E)sweet

(9) DECOROUS

(A) momentary      (B)emotional       (C)suppressed      (D)proper   
  (E)unexpected

(10) DECREPITUDE

(A) feebleness      (B) disease (C)coolness      (D)melee   
  (E)crowd

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) ORTHODOXY

(A)renown   (B)trepidation
(C) unconventionality  (D)inquisitiveness   (E)remoteness

(12) SUMPTOUS

(A)dank
(B)frequent
(C)partial   (D)restrained   (E)open

(13) DISSOLUTION

(A)retribution
(B)compliance
(C) futility  (D)persuasion   (E)establishment

(14) IRK

(A)pry 
(B)tinge (C)beguile   (D)convince   (E)soothe

(15) LIMBER

(A)sturdy
(B)orderly
(C)durable   (D)stiff   (E)gloomy

(16) OBLIQUITY

(A) praise
(B)straightforwardness  (C)conformity   (D)self-righteousness   (E)depreciation

(17) SLUR

(A) sensitivity
 (B)sacrifice
(C)understatement   (D)challenge   (E)commendation

(18) APOTHEOSIS

(A) departure form tradition
(B)impatience with stupidity
(C)demotion from glory   (D)surrender to impulse   (E)cause for grief

(19) ENERVATE

(A) narrate (B)enrage
(C)accomplish   (D)invigorate   (E)acquiesce

(20) PARSIMONIOUS

(A) appropriate (B)generous
(C)complete   (D)radiant   (E)ongoing

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets refer to Question numbers.

Desertification in the arid United states is flagrant.______21_______. Whole river systems have dried up; others are choked with sediment washed from denuded land. Hundreds of thousands of acres of previously irrigated cropland have been abandoned to wind or weeds. ______22_________. All told, about 225 million acres of land are undergoing severe desertification.

Federal subsides encourage the exploitation of  arid land resources.____23_______. Federal disaster relief and commodity programs encourage arid land farmers to plow up natural grassland to plant crops such as wheat and, especially, cotton. _____24______. The market, too, provides powerful incentives to exploit arid land resources beyond their carrying capacity. When commodity prices are high relative to the farmer’s or rancher’s operating costs, the return on a production enhancing investment is invariably greater than the return on conservation investment. ___25______ 

If the United States is, as it appears, well on its way toward overdrawing the arid land resources ____26______ when productive benefits from arid-land resources have been both realized and largely terminated.

A. Federal grazing fees that are well below the free market price encourage overgrazing of the commons

B. And when commodity prices are relatively low, arid-land ranchers and farmers often have to use all their available financial resources to stay solvent 

C. Government Programs provide irrigation and water delivery system ………

D. Then the policy choice is simply to pay now for the appropriate remedies or pay far moiré later 

E. Several million acres of natural grassland are eroding at unnaturally high rates as a result of cultivation or overgrazing.

F. Policies help the farmers to obtain loans for their crops

G. Groundwater supplies beneath vast stretches of land are dropping precipitously.

H. Low interest loans for irrigation and other water delivery systems encourage farmers, industry, and municipalities to mine groundwater.

I.
It is still the case that those who ultimately benefit from affirmative action.

Plato who may have understood better what forms the mind of man than do some of our contemporaries, who what their children exposed only to “real” people and everyday events- knew what intellectual experiences make for true humanity. He suggested that the future citizens of this ideal republic begin their literary education with the telling of myths, rather than with mere facts or so-called rational teachings. Even Aristotle, master of pure reason, said: “The friend of wisdom is also a friend of myth.”

Modern thinkers who have studied myths and fairy tales from a philosophical or psychological viewpoint arrive at the same conclusion, regardless of their original persuasion. Marcia Elide, for one, describes these stories as “models for human behavior that, by that very fact, give meaning and value to life”. Drawing one anthropological parallel, he and others suggest that myths and fairy tales were derived from, or give symbolic expressions to, initiation rites or rites of passage- such as metaphoric death of an old, inadequate self in order to be reborn on a higher plane of existence. He feels that this is why these tales meet a strongly felt need and are carriers of such deep meaning.

Other investigators with a depth-psychological orientation,  emphasize the similarities between the fantastic events in myths and fairy tales and those in adult dreams and daydreams- the fulfillments of wishes, the winning out over all competitors, and the destruction of enemies- and conclude that one attraction of this literature is its expression of that which is normally prevented from coming to awareness.

There are, of course, very significant differences between fairy tales and dreams. For example, in dreams more often than not the wish fulfillment is disguised, while in fairy tales much of it is openly expressed. To a considerable degree, dreams are the result of inner pressures which have found no relief, of problems which beset a person to which he knows no solution and to which the dream finds none. The fairy tale does the opposite: it projects the relief of all pressures and not only offers ways to solve problems but promises that a “happy” solution will be found.

We cannot control what goes on in our dreams. Although our inner censorship influences what we may dream, such control occurs in an unconscious level. The fairy tale,  on the other hand, is very much the result of common conscious and unconscious content that have been shaped by the conscious mind, not of one particular person, but the consensus of many in regard to what they view as universal human problems and what they accept as desirable solutions. If all these elements were not present in a fairy tale, it would not be retold generation after generation. Only if a fairy tale met the conscious and unconscious requirements of many people was it repeatedly retold, and listened to with great interest. No dream of a person could arouse such persistent interest unless it was worked into a myth, as was the story of the pharaoh’s dream as interpreted by Joseph in the Bible.

(27) It can be inferred from the passage that the author’s interest in fairy tales centers 

     chiefly on their

A. Literary qualities.

B. Historical background

C. Factual accuracy

D. Psychological relevance

E. Ethical weakness

(28) According to the passage, fairy tales differ from dreams in which of the following characteristics?

I. The communal nature of their creation.

II. Their convention of a happy ending.

III. Their enduring general appeal

(A) I only.

(B) II only

(C) I and II only

(D) II and III only

(E) I,II, and III

(29) It can be inferred from the passage that Mircea Eliade is most likely

(A) a writer of children’s literature

(B) a student physical anthropology.

(C) A twentieth- century philosopher

(D) An advocate of practical education.

(E) a contemporary of Plato.

(30) Which of the following best describes the author’s attitude toward fairy tales?

(A) Reluctant fascination

(B) Wary skepticism

(C) Scornful disapprobation

(D) Indulgent tolerance

(E) Open approval

(31) The author quotes Plato and Aristotle primarily in order to

(A) define the nature of myth.

(B) Contrast their opposing points of view.

(C) Support the point that myths are valuable.

(D) Prove that myths originated in ancient times.

(E) Give an example of depth psychology.

(32) The author mentions all of the following as reasons for reading fairy tales EXCEPT

(A) emotional catharsis,

(B) behavioral paradigm

(C) uniqueness of experience

(D) sublimation of aggression

(E) symbolic satisfaction.

PART II

Q1. 
Fill in the missing number in the sequence  

7 
8   
9  
11
13
??
19
26

(a) 24  (b) 21   (c) 17   (d) 15  (e) 18

Q2.
In the following series, how many Us are there such that each U is followed by an G next to it if the G is not followed by a S next to it. 

U    G    U    S    Q    M    U    G    S    M    G    U    G    G    U    Q    M    U    

U    G    Q    U    G    S    G    U    A     M   G    U    G    M

(a)2
(b)3
(c)5
(d)4
(e)6

Q3.
If FLPMXQHO is coded as COMPUTER how will GFVMOXB be coded?

(a) PROCESS
(b) CENTRAL (c) PLEASE
(d) SURMISE
(e) DISPLAY

Q4.
Suppose the first and second letters in the word CONSEQUENCES were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the eighth letter counting from the right.

(a) C

 (b) E

   (c) N

   (d) Q
   (e) S

Q5.
How would the decimal number 362 be represented in a base -6 number System?

 
(a) 1234              (b) 1342             (c) 1362               (d) 1544          (e) 1645

Q6.
What is the largest prime number that can be stored in a 7-bit word computer?

(a) 123                      (b) 129            (c) 121               (d) 127           (e) 119

Q7.
If n = 15 x 28 x 26, which of the following is NOT an integer?


a.
n / 15

b.
n / 21

c.
n / 64 


d.
n / 35

e.
n / 78

Q8.
Which of the following is a power of 2?


a.
2148

b.
2096

c.
2048 


d.
2444

e.
2198  

Q9.       Pick the odd one out:


(a)
ORACLE

(b)
SYBASE

(c)
SMTP


(d)
DB2


(e)       INGRESS

Q10.    Pick the odd one out:


(a)
UNIX


(b)
WINDOWS NT
(c)
LINUX

(d)
MVS


(e)        C++


Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(5m,3m,4m) 
(b)
(4m,5m,4m)
(c) 
(4m,6m,8m) 

(d) 
(6m,2m,2m)
(e) 
(12m,6m,8m)

Q12.
The three numbers in brackets in each of the following options represents the  number of edges ,the number of vertices  and the number of faces respectively. Find out which of these represents a solid planar cube?

 (a)  (4,8,12)
(b)  (12,8,6)
(c)  (8,6,12)
(d)  (8,8,8)   (e)  (12,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
3, -3, 3, -3, 3, -3   
(b)
3, 0, -3, 3, 0, -3 (c)
3, 3, 3, 0, 3, 3

(d)
3, 3, 3, 3, 3, 3

(e)
-3, -3, -3, -3, -3, -3 


The three circles below represent the number of people speaking French, German and English. Answer the next three questions based on the diagram

[image: image3.bmp]
Q14.
How many more (or less) people speak English than people who speak German?


(a) 2
(b) 3
(c) 1
(d) 5
(e) 6

Q15.
What percentage of people speaking French can also speak German but not English?


(a) 16
(b) 14
(c) 17.4 (d) 15
(e)13

Q16.
What percentage of people can totally speak all three languages?



(a) 4
(b) 5
(c) 6
(d) 7
(e) 8


The figure on the left represents number of members in a Club and the figure on the right depicts profession wise distribution for 1998

[image: image4.bmp]
 Members (in "00s)
Q17.
Which year has registered the maximum percentage growth in members?

(a) 1996
(b) 1998
(c) 1994
(d) 1686
(e) 1888

Q18.
What are the average members for 1995-1999?

(a) 7700
(b) 8800
(c)6800
(d)4800
(e) 7800

Q19.
If 10% of members in 1998 left the Club, how many fresh members were made in 1999?


(a)4500
(b) 4900
(c)4600
(d) 4400
(e) 5400

Q20.
A hypothetical physical quantity is defined as


             (Energy X Time X Time) 

                             (Mass X Distance)


In what fundamental units would this quantity be expressed?


(a)Time (b) Distance
(c) Velocity (d) Mass (e) None

Q21.
A, B and C together can finish a piece of work in 4 days; A alone can do it in 12 days and B alone can do it in 18 days. How many days will be taken by C to do it alone?

(a)21
(b)27
(c)9
(d)6
(e)8

Q22.
Which of these matrices is singular

[image: image5.bmp]

  8         6

  -1     7
             3     2
   
  0     3


  A =

      
   B =

             C =

    D = 



  4            3

   0     6
             5     9

  3      0


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Animal
 – Lion


(1)
Not a type of


(ii)
Television – Conveyance
(2)
Part of


(iii)
Square – Polygon

(3) 
A type of


(iv)
Piston – Engine

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If @ stands for squaring and + stands for square root what is the value of 

@ @ + (25)  -  + + @ (36)?

(a)  625
(b)  631
(c)  619
(d) -619
(e) 627

Q25.
A sequence is defined recursively as



g(0) = -1;
g(1) = 1



g(n) = g(n-1) + g(n-2)


What will be the value of g(5)?


(a)1
(b)-2
(c)3
(d)2
(e)5

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X (9,7) is stored linearly column-wise in a computer's memory. Each element requires 8 bytes for storage of the value. If the first byte address of X (1,1) is 3000, what would be the last byte address of X (8,5)?

(a) 3241
(b)3541
(c)3431
(d)3556
(e)3224

Q28.
Of the four straight lines A,B,C,D find out which pair forms an orthogonal set

 
A: 3x+4y-7 = 0, B: y = -x ,  C: y = 7x+3, D: 4x = 3y+5


(a)AD
(b)AC
(c)BC
(d)BD
(e)AB


Q29.
Evaluate the expression 

M(843,5) + R(5.8) + T(7.7) - R(3.4) where

M stands for Modular arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)12
(b)11
(c) 13
(d)14
(e)15

Q30.
Three independent strategies A, B and C have been initiated for cost cutting in a company producing respectively 20%, 30% and 10% savings. Assuming that they operate independently, what is the net saving achieved?

(a) 45%
(b) 49.6%
(c) 54%
(d) 56%
(e) 48%

Q31.
The log values of two numbers to the base 10 are given as below:





X


log10X



3.142


0.4972061807



3.143


0.4973443810


Find log103.141.


(a) 0.49706
(b) 0.59720
(c) 0.49110
(d) 0.49420
(e) 0.49440

Q32.
What equation best describes the curve shown below:[image: image6.bmp]
(a)y = tan x
(b) y + 3 = x
(c)y + x = 0
(d) y = ex  
(e) y = Cos x


Q33.
The temperature at Kochi is given by the function: -t2/6+4t+12 where t is the elapsed time since noon. What is the percentage rise (or fall) in temperature between 6.00 PM and 9.00 PM?


(a) 15%
(b) 20%
(c) 25%
(d) 10%
(e) 10.5%

Q34.
An aircraft takes off from A (72o N Lat, 40o E Long) at 2.00 AM local time to B (32o N Lat, 50o W Long). If the flying time is 8 hours what is the local time of landing at B?


(a)5.40 AM
(b) 3.00 AM
(c) 4.00 AM
(d) 5.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A (B ) ( C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.


(a) 127 (b)129
(c)128
(d) 131
(e)122

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.11 N
(b) 10.011 N
(c) 11.01 N
(d)11.011 N
(e)10.101 N

Q37.
The productivity of a group of workers is given by the function 

P(N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the group is increased by 1%.


(a) 0.75%  
(b) 0.5%
(c) 0.25%
(d) 1%  
(e) 2%

    Q38.
A power cable is to be run from a power plant on the bank of a river 900 meters wide to a factory that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 1800
(d) 2100
(e) 2700

PART III

Read the following passages and answer questions under each passage

(1) The letters A, B, C, D, E, F and G not necessarily in that order, stand for seven consecutive integers from 1 to 10.

D is less than A

B is the middle term

F is as much less than B as C is greater than D

G is greater than F

1. A is much greater than F, as which integer is less than G?

(A) A

(B) B

(C) C

(D) D

(E) E

2. If A = 7, the sum of E and G is:

(A) 8

(B) 10

(C) 12

(D) 14

(E) 16

3. An integer T is as much greater than C as C is greater than E. T can be written as A+E. What is D?

(A) 2

(B) 3

(C) 4

(D) 5

(E) cannot be determined

4. The greatest possible value of C is how much greater than the smallest possible value of D?

(A) 2

(B) 3

(C) 4

(D) 5

(E) 6

(2) In country X, the Conservative, Democratic and Justice parties have fought 3 civil wars in 20 years. To restore stability, an agreement is reached to rotate the top offices-President, Prime Minister and Chief of Army Staff – among the parties, so that each party controls one and only one office at all times.

The 3 top office holders must have each 2 deputies, one from each pf the other parties. Each deputy must choose a staff composed equally of members of his or her chief’s party and members of the third party.

1. When the Justice party holds one of the top offices, which of the following cannot be true?

A. Some of the staff members within that office are Justice party members.

B. Some of the staff members within that office are Democratic Party members

C. Two of the deputies within the other offices are Justice party members.

D. Two of the deputies within the other offices are Conservative Party members

E. Some of the staff members within the other offices are Justice party members.

2. When the Democratic party holds the presidency, the staffs of the Prime Minister’s deputies are composed.

I. one fourth of Democratic party members

II. one half of Justice Party members, one fourth of Conservative party members

III. one half of Conservative party members, one fourth of Justice party members

A. I only

B. I and II only

C. II and III, but not both

D. I and II or I and III

E. Neither I, II, Nor III

3. Which of the following is allowable under the rules as stated?

A. More than half of the staff within a given office belonging to a single party

B. Half the staff members within a given office belonging to a single party

C. Any person having a member of the same party as his or her immediate superior

D. Half the total number of the staff members in all three offices are belonging to a single party.

E. Half the staff members within a given office belonging to a parties different from the party of the top office holder in that office

4. The office of the Chief of Army Staff passes from the Conservative to the justice party. Which of the following must be fired?

A. The Democratic deputy and all staff members belonging to the justice party.

B. The Justice party deputy and  all his or her staff members

C. The Justice party deputy and  half of the Conservative staff members in the chief of staff office

D. The Conservative deputy and all of his or her staff members belonging to the Conservative Party

E. No deputies, and all staff members belonging to the Conservative Party

(3) Tom wishes to enroll in Latin, Sanskrit, Armenian Literature and Celtic Literature.

Latin meets five days a week, either from 9 to 11 am or from 2 to 4 p.m.

Sanskrit meets either on Tuesday or Thursday from 12 noon to 3 p.m. or Monday, Wednesday and Friday from 10 am to 12 noon

Armenian Literature meets Monday, Wednesday and Friday from 12:30 to 2 p.m. and Thursday from 10:30 am to 12:30 p.m.

Celtic Literature meets by arrangement with the instructor, the only requirement being that it meet for one four hour session or two two hour sessions per week, between 9am and 4 p.m. from Monday to Friday, beginning on the hour

1. Which combination is impossible for Tom?

A. Latin in the morning, Sanskrit on Tuesday and Armenian Literature on Monday, Wednesday and Friday.

B. Latin in the afternoon and Sanskrit and Armenian Literature on Monday, Wednesday and Friday.

C. Latin in the afternoon, Sanskrit on Monday, Wednesday, and Friday and

Armenian Literature on Tuesday and Thursday.

D. Latin in the afternoon and Sanskrit and Armenian Literature on Monday, Wednesday and Friday

E. Latin in the morning, Armenian Literature on Monday, Wednesday and Friday and Celtic Literature on Tuesday.

2. Which of the following gives the greatest number of alternatives for scheduling Celtic Literature, assuming that all other courses are scheduled without conflicts?

A. Latin in the afternoon and Armenian Literature on Monday, Wednesday and Friday

B. Sanskrit on Tuesday and Thursday and Armenian Literature on Monday, Wednesday and Friday.

C. Latin in the afternoon and Armenian Literature on Tuesday and Thursday.

D. Latin in the morning and Sanskrit on Tuesday and Thursday

E. Sanskrit on Monday, Wednesday and Friday and Armenian Literature on Tuesday and Thursday.

3. If the Celtic instructor insists on holding at least one session on Friday in which of the following can Tom enroll?

I. Armenian Literature on Monday, Wednesday, and Friday

II. Sanskrit on Monday, Wednesday, and Friday

A. I only

B. II only

C. Both I and II

D. I or II but not both

E. Neither I nor II

4. Which of the following additional courses, meeting as indicated can Tom take?

A. Old Church Slavonic- Monday, Wednesday, and Friday from 10 am to 12 noon

B. Intermediary Aramaic- Monday, Wednesday, and Friday form 11 am to 12:30 p.m.

C. Introductory Arcadian – Tuesday and Thursday from 2 to 4 p.m.

D. Fundamentals of Basque- Tuesday and Thursday from 1 to 3 p.m.

E. Old- Norse Icelandic- Monday only from 12 to 3 p.m.
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